' A% !! : Multiplicér decimaler med ti

Navn: Dato:___ Score:____
6,416 x 100 = 8,065 x 1000000 =
4,498 x 10 = 1,615 % 1000 =
9,461 x 100000 = 1,122 x 100 =
10,931 x 1000000 = 3x10=
6, 704 x 1000000 = 10,098 x 10 =
4,052 x 10000 = 6, 982 x 1000000 =
8, 173 x 1000000 = 4,833 x 100 =
5,08 x 100 = 2,923 x 10 =
2,585 x 1000000 = 9,579 x 100 =
1, 006 x 100000 = 4,147 x 100000 =
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JeALT

Multiplicér decimaler med ti

Navn:

6,416 x 100 = 641.6

4,498 x 10 = 44.98

9,461 x 100000 = 946100

10,931 x 1000000 = 10931000

6, 704 x 1000000 = 6704000

4,052 x 10000 = 40520

8, 173 x 1000000 = 8173000

5,08 x 100 = 508

2,585 x 1000000 = 2585000

1, 006 x 100000 = 100600

Dato: Score:

8, 065 x 1000000 = 8065000

1,615 > 1000 = 1615

1,122 x 100 =112.2

3x10=30

10,098 x 10 = 100.98

6, 982 x 1000000 = 6982000

4,833 x 100 = 483.3

2,923 x 10 =29.23

9,579 x 100 = 957.9

4,147 x 100000 = 414700
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